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205 2l3lH| 401,033 440,637 39,604
NIEEEET 87,505 9,400 14,8%
OABYE Y 2X4Y 87,505 9,400 14,8%
—olyg =] 71,754 75,600 13,846
—BxEEY 16,751 16,800 £1,049
2 FH+G 152,151 160,666 £8,515
o8x+Y 152,151 160,666 £8,515
03 SRR 401 5,500 21,000 A 15,500
OB BLEF0| 5,500 21,000 A 15,500
04 21212 2/04H| 3,306 12,000 £18,6%
OXIHZY DRSA S &A 3,306 12,000 18,69
IEEEREELIES 1,860 2,160 A300
SELENIEET=E 1,860 2,160 A300
PEGEERIERITISE 5,860 7,560 A1,700
Oog=eIAARES 5,860 7,560 A1,700
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o¥ES X2 Il 116,744 165,39 138,652
201 Let2 ] 102,177 29,237 £27,060
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Oolmal g Z| 1,000 2,000 21,000
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OZUEI| EUTY(A/ARA) 0 1,750 21,750
SEEIE 4,000 15,000 AT1,000
OAIRIel 22Xt S| 5,000 7.680 12,680
2 B2 24,360 31,040 116,680
OXREH 0,000 13,680 13,680
OXRXI22lt| 6,000 9,000 23,000
202 01t 6,688 17,109 A10,421
04 =301t 4,288 14,709 £10,421
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201 Ler2 3| 145,650 148,350 22,700

01 Al22tefsl 143,650 146,350 22,700

028l 2222 MR 15,050 16,750 A1,700

—S2== 14,000 15,000 21,000

—S=2=3 30/ 1,050 1,750 A700

OAEE AW 0l512 1,000 2,000 A1,000

olAie 3 111,990 114,630 £2,640

201 ger2 | 40,750 42,450 A1,700

01 Al22tefsl 22,364 24,064 21,700

Ozlol= 22t 7,300 8,000 ATO0

OaAX] &2t 13,000 14,000 21,000

202 048l 500 1,440 A940

01 =LH04H 500 1,440 2940

OgAg2 7 500 1,440 £940

fRe 2g XA 70,827 72,787 21,960

202 O4dl 3,800 5,760 21,960

01 =LH04H 3,800 5,760 21,960

OMZfldd R 3,800 5,760 21,960

AH2LZHI(2ABIARD) 1,407,182 1,478,598 AT71,416

el =4y 1,358,198 1,423,166 264,968
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101 21| 1,288,137 1,346,606 £\58,469

01 24 1,069,245 1,116,498 57,253

OxZL4e 57,311 %,564 739,253

—62 10,402 14,860 N\4,458

—72 28,188 40,269 212,081
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—82 8,436 12,051 £3,615

O=0tsgd=g 0 18,000 18,000

02 etz 2= 85,522 86,738 21,216

o¥ag 53,343 54,559 21,216
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204 AF A 53,861 54,960 21,099

02 M2 43,661 44,760 21,099

(ORN= el 43,661 44,760 21,0909

—b6= 6,461 6,660 A9

—72 20,952 21,600 648
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Jl=2&d| 48,984 55,432 26,448
Jl=&H| 48,984 55,432 6,448
201 ZEet2& ] 36,704 42,364 A5,660
02 3224l 10,160 15,820 25,660
OZE |RAEs 22l 9,660 15,320 A5,660
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—&3MN L BY 4,160 8,320 A4,160
202 044l 1,900 2,688 AT788
01 =LA LI 1,900 2,688 AT788
(O PSPNI=IusS 1,900 2,688 AT788
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